
Y3 – Spring – Block 1 – Step 8 – Divide a 2-digit number by a 1-digit number – flexible partitioning 
Answers

Question Answer

1

a)

b)

c) 14
d) Yes

2

a)

b) £14

3
24

4

a) 15
b) 19
c) 23

5

a) Tommy’s
Both 40 and 12 are in the 4 times-table.

b) 13

6

a) 48 ÷ 3 = 16
30 ÷ 3 = 10
18 ÷ 3 = 6
48 ÷ 3 = 16

b) 24
c) 13

7

a) All of the divisions are dividing 96
96 is being divided by a different number in each division.

b) 96 ÷ 8 = 12     96 ÷ 4 = 24     96 ÷ 2 = 48
c) When the number being divided by halves, the answer doubles.


